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403 X XA S A201& 3,780,000 0 3,780,000
= 2,917,000
= 259,000
Al 604,000
403-02 I S0l tist 2AE AL 3,780,000 0 3,780,000
= 2,917,000
= 259,000
Al 604,000
O 2dots=Hel+ THolISAY
3,780,000,000& 3,780,000
= 2,917,000
= 259,000
Al 604,000
290 JIEtRr=2H X = 2,129,200 0 2,129,200
291 A2 X FeHE 2,129,200 0 2,129,200
800 GlEldgl ¥ J|EL 2,129,200 0 2,129,200
802 Btz DI Et 2,129,200 0 2,129,200
802-01 =2 x3eteza 1,873,000 0 1,873,000
O EgA 2= TAIE= A
1,873,000,000& 1,873,000
802-02 ANIEHIEXZZEe 3 256,200 0 256,200
O EgA 2= TAIE= AL
246,000,000& 246,000
O dlicl & 20t o222 JHlAY
10,200,000& 10,200




